
 

 16 

Martes, 5 de mayo 

Pág 119, 1, 2e, 3b 













≥+−

<≤−+

−<+

=

2xsi6x

2x2si3
2

x

2xsi6x2

y

1)

 

x 2 x + 6 

-2 2 

-4 -2 

   

x 3
2

x
+  

-2 2 

0 3 

2 4  

x – x + 6 

2 4 

4 2 

   

 
 



 

 17 

2 e)  

),()()(;

),(;

),(;
)(;;

),(;

2121412y1
22

2

a2

b
xVértice

022x02x

000x0x2
02xx20x4x20y

0000402y0x

x4x2y

2

2

2

2

−−−=−+−=−=
⋅

−
=

−
=

−−==+

==
=+=+=

=⋅+⋅==

+=

 

 
 

3 b) 

04

10
4

x
1x

4

x
1y

4

x
1y

−

−=

−=

 

 
 

 



 

 18 

 

{ }5yDom5x05x

5x

1
y

−−ℜ=−==+

+
=

;  

x 

5x

1

+
 

-8 -0´3333 

-7 -0´5 

-6 -1 

-5´5 -2 

-5´1 -10 

-4´8 5 

-4´5 2 

-4 1 

-3 0´5 

-2 0´3333 

 

 
 

 



 

 19 

e) 

[ )

4634

8223

22

01

1x2yx

1yDom1x01x

1x2y

´

´

,;

−=

∞+=≥≥−

−=

 

 


